EHPREEREERX #1TK

ERR R P REEEE

R2,03 31 HIBIEIET—4

HEEA (R RHARESEETE)

HEE M (RAMFI AR E)

2zt RIBHIEA ST M AR (H26h 5D RED RIBBR T &S AR (R (H26h SO RED
No | marH 0D |y EH fEFH o) pyy  EH e friéas g e o) pyy B fEFH e el
B(ha) ] B/A Bt(ha) Bt/A C(ha) C/A Ct(ha) Ct/A
ST o SM(F) MB(Ke) | of SH(FRMH(KD o SH(F) MHKe) | o
1 Bam 3,550 0 0.0 0 0 0.0 8 7.2 108 2,140 0.2 0 0.0 0 0 0.0 9 7.2 108 2,140 0.2 |gr™
9 fAHEM 4,720 69 451 1,383 5,478 1.0 935 513.6 12,404 73,050 10.9 116 493 1,584 5,819 1.0] 955 487.1 11,529 70,551 10.3 |&ET™
3 |EEHT 2,400 2 5.3 350 240 0.2 48 37.7 1,147 6,071 1.6 2 5.3 350 240 0.2 46 378 1,147 6,101 1.6 |EEHRT
4 toER 592 1 0.2 6 0 00| 121 51.0 2,446 1,453 8.6 2 0.6 34 0 0.1 53 51.0 2,475 1,453 8.6 | t~E"r
5 | KA AT 611 1 0.2 0 121 0.0 32 17.2 111 9,914 2.8 2 2.1 0 1,231 0.3 31 17.2 111 9,914 2.8 |KiEIRET
6 HEE 1,650 2 0.7 7 188 0.0 84 37.8 582 10,658 2.3 1 0.5 38 0 0.0 33 371 574 10,470 2.2 |+EET
7 SREET 1,020 37 6.8 35 1,547 0.7| 364 137.7 3,536 29,989 13.5 47 7.8 58 1,981 0.8] 223 136.1 3,535 29,692 13.3 |4mEr
g | JIliEEET 1,990 2 2.3 0 677 0.1 38 40.4 164 11,303 20 3 2.7 20 677 0.1 37 40.4 164 11,303 2.0 |)inesEr
g |ALFRET 3,230 3 0.6 47 0 0.0| 262 160.2 7,551 14,595 50 0 0.0 0 0 0.0 31 159.6 7,504 14,595 4.9 |h7RET
10 L& 5,830] 261 160.3 17,162 0 2.7] 1,303 792.6 88,659 0 13.6 73 132.6 13,413 0 23| 779 644.6 72,030 0 11.1 fu&ad
11 1BET 14 0 0.0 0 0 0.0 0 0.0 0 0 0.0 0 0.0 0 0 0.0 0 0.0 0 0 0.0 |iBET
19 |BETT 2,460 37 20.6 1,581 0 0.8] 507 363.7 20,169 0 14.8 23 19.5 1,538 0 0.8 179 351.8 19,566 0 14.3 |&@m
13 ZEHH 358 0 0.0 0 0 0.0 0 0.0 0 0 0.0 0 0.0 0 0 0.0 0 0.0 0 0 0.0 |z&EHT
14|58 1,290 51 23.9 1,586 0 1.9] 1,006 779.8 49,036 0 60.5 51 31.7 2,175 0 25| 509 7671 48,290 0 59.5 |AB™
15 | EERHT 2,460] 159 122.8 13,284 0 50 291 230.1 23,999 5717 9.4 208 160.1 17,225 0 6.5 231 189.3 19,466 5717 1.7 |EE8T
16 |W7TAT 1,230 25 12.2 1,235 560 1.0 155 76.7 5,747 11,210 6.2 4 13.6 1,435 200 1.1 41 76.1 5,747 10,850 6.2 |cEr
17 HRBHET 1,010 37 31.1 1,852 7,188 3.1 188 120.8 8,750 20,394 120 27 22.9 1,971 1,726 23| 136 110.5 8,750 14,332 10.9 |HmsHEr
18 | LR 119 1 0.4 18 0 0.3] 252 90.2 4,365 0 75.8 1 0.4 18 0 0.3[ 198 90.2 4,365 0 75.8 | torikEr
19 | FIRTHET 461 0 0.0 0 0 0.0 3 1.6 117 0 0.4 0 0.0 0 0 0.0 3 1.6 117 0 0.4 |FIrseEr
20 | AFET 2,520 2 0.9 16 270 0.0 97 116.4 10,590 4,902 4.6 2 0.9 16 270 0.0 28 116.4 10,590 4,902 4.6 |K#ndEr
91 | KEBET 2,190 15 13.0 1,121 0 0.6/ 336 376.3 31,847 6,563 17.2 14 40.7 3,591 225 1.9 96 369.2 31,360 6,563 16.9 |KsmeEr
29 B&H 717 2 2.1 0 1,238 0.3 13 17.6 205 6,444 25 0 0.0 0 0 0.0 10 15.6 205 5,206 22 |E8W
23 | K+ 1,400 1 0.7 0 210 0.1 49 75.4 1,833 17,176 54 2 2.3 0 652 0.2 43 74.7 1,833 16,966 5.3 | K
24 | K5t 19,000 142 130.0 19,562 810 0.7] 1,124 1,112.4) 153,530 26,135 59 110 1125 16,326 1,110 0.6 672 1,057.7 145,239 26,135 5.6 | K
25 | B FRET 2,890 3 41 417 0 0.1 235 342.7 40,155 555 11.9 6 17.9 2,055 0 0.6 59 342.3 40,097 555 11.8 |&RreET
26 | INEAET 6,260 2 0.6 64 0 0.0| 284 433.0 46,319 3,903 6.9 3 1.9 208 0 0.0 42 432.7 46,283 3,903 6.9 |mm3=ET
27 | BAET 3,470 113 85.6 11,304 420 25| 594 468.9 61,746 10,477 135 150 90.6 10,794 1,453 26| 531 4434 58,380 10,477 12.8 |@nar
0g EEMT 5,010 88 72.2 10,073 882 14| 626 623.9 99,292 10,559 125 91 96.5 13,473 718 1.9 318 605.9 96,714 10,395 12.1 | =28
29 | REM 18,500 37 52.8 2,216 13,364 03| 842 905.3 48,429 240,362 4.9 55 78.1 3,656 18,346 04] 723 893.1 47,866 236,195 48 |ER™
30 BXH 18,400 218 199.1 28,015 0 1.1] 1,556 1,426.6 196,655 22,127 7.8 259 251.8 35,057 0 1.4( 1,397 1,384.5 190,505 22,127 7.5 |BXT
31 | BEH 9,360] 160 1259 10,637 18,707 1.3| 845 781.7 72,991 154,761 8.4 112 117.2 9,746 16,600 131 712 740.3 68,393 | 145,363 79 |B5®
30 i 2,510 58 29.6 1,349 6,831 12| 758 525.1 44,801 71,040 20.9 45 27.2 1,216 7,083 1.1 536 520.9 44,794 69,837 20.8 |EmRET
33 XA 14 0 0.0 0 0 0.0 0 0.0 0 0 0.0 0 0.0 0 0 0.0 0 0.0 0 0 0.0 |%IiEr
34 RALET 1,430 0 0.0 0 0 0.0|] 319 81.1 2,549 6,530 5.7 0 0.0 0 0 0.0 21 81.1 2,549 6,530 5.7 |&/i:ET
35 B =REfT 989 11 1.9 44 0 02| 136 48.6 1,465 0 49 5 2.7 86 0 0.3 30 48.6 1,465 0 4.9 |Fa=ReHT
B2t 129,655] 1,540 1,150.9| 123,366 58,731 0.9(13,411 10,799.5 1,041,296 778,028 8.3] 1414 12894 136,083 58,331 1.0( 8,712 10,330.9| 991,752 | 752,272 8.0




